
 S1

Palladium-Catalyzed Selective Heck-type 
Diarylation of Allylic Esters with Aryl Halides 

Involving a β-OAc Elimination Process 
 

Yan Liu, Bo Yao, Chen-Liang Deng,* Ri-Yuan Tang, Xing-Guo Zhang,† and Jin-Heng Li* 

College of Chemistry and Materials Science, Wenzhou University, Wenzhou 325035, China 
 

jhli@hunnu.edu.cn and dengchenliang78@tom.com 

 

 

Supporting Information 

List of Contents 

(A) Typical experimental procedure                                    S2 

(B) Analytical data of 3-13, 15, and 17-28                                S2-S8 

(C) References                                                      S8-S9 

(D) Spectra of 3-13, 15, and 17-28                                     S10-S57   

 

 

 

 

 

 

 

 

 

 



 S2

(A) Typical Experimental Procedure  

(a) Typical Experimental Procedure for the Palladium-Catalyzed Diarylation Reactions of 

Allylic Esters (1) with Aryl Iodides (2). 

To a Schlenk tube were added allylic esters 1 (0.2 mmol), aryl iodides 2 (0.5 mmol), Pd(OAc)2 

(4.5 mg, 10 mol %), n-Bu4NCl (83.4mg, 1.5 equiv), Et3N (161.9 mg, 8.0 equiv) and anhydrous 

MeCN (2 mL). Then the tube was stirred at 120 oC (oil bath temperature) under the air atmosphere 

for the indicated time until complete consumption of starting material as monitored by TLC and 

GC-MS analysis. After the reaction was finished, the reaction mixture was cooled to room 

temperature, diluted in diethyl ether, and washed with brine. The aqueous phase was re-extracted 

with diethyl ether. The combined organic extracts were dried over Na2SO4 and concentrated in 

vacuum, and the resulting residue was purified by silica gel column chromatography (hexane/ethyl 

acetate) to afford the corresponding product. 

 

 (b) Typical Experimental Procedure for the Synthesis of Indoles and Benzofurans. 

To a Schlenk tube were added allylic esters 1 (0.2 mmol), aryl halides 2 (0.3 mmol), PdCl2 (7.1 

mg, 10 mol %), n-Bu4NCl (83.4 mg, 1.5 equiv), K2CO3 (55.2 mg, 2.0 equiv) and anhydrous DMA (2 

mL). Then the tube was stirred at 100 oC (oil bath temperature) under the air atmosphere for the 

indicated time until complete consumption of starting material as monitored by TLC and GC-MS 

analysis. After the reaction was finished, the reaction mixture was cooled to room temperature, 

diluted in diethyl ether, and washed with brine. The aqueous phase was re-extracted with diethyl 

ether. The combined organic extracts were dried over Na2SO4 and concentrated in vacuum, and the 

resulting residue was purified by silica gel column chromatography (hexane/ethyl acetate) to afford 

the Indoles or Benzofurans. 

 

(c) Table S1 

Table S1. Screening Optimal Conditions Applications in the Synthesis of Indolea 



 S3

OAc

1a DMA, 100 oC

+
[Pd]

n-Bu4NCl, base

Me
NNHMe

I
2l 18  

entry [Pd] (mol %) Base  Solvent T (oC) yield (%)b 

1c Pd(OAc)2 (10) Et3N (8 equiv) MeCN 120 38 

2d Pd(OAc)2 (10) Et3N (2 equiv) MeCN 100 42 

3e Pd(OAc)2 (10) Et3N (2 equiv) MeCN 80 20 

4f Pd(OAc)2 (10) Et3N (2 equiv) DMA 100 65 

5g Pd(OAc)2 (10) K2CO3 (2 equiv) DMA 100 84 

6 PdCl2 (10) K2CO3 (2 equiv) DMA 100 88 

a Reaction conditions: 1 (0.2 mmol), 2 (0.3 mmol), PdCl2 (10 mol %), n-Bu4NCl 
(1.5 equiv), base and solvent (2 mL) under air atmosphere. DMA = 
N,N-dimethylacetamide. b Isolated yield.  

 

(B) Analytical data for 3-13, 15, and 17-28 

(E)-4,4'-(Prop-1-ene-1,3-diyl)bis(methoxybenzene) (3)1 

White solid; mp: 47-49 oC; 1H NMR (300 MHz, CDCl3) δ: 7.27 (t, J = 7.5 Hz, 2H), 7.15 (d, J = 

8.5 Hz, 2H), 6.86-6.81 (m, 4H), 6.37 (d, J = 15.8 Hz, 1H), 6.24-6.16 (m, 1H), 3.78 (s, 6H); 3.46 (d, J 

= 6.6 Hz, 2H); 13C NMR (75 MHz, CDCl3) δ: 158.8, 158.0, 132.5, 130.4, 130.1, 129.6, 127.5, 127.1, 

113.9, 113.9, 55.3 (2C), 38.4; LRMS (EI 70 ev): m/z (%): 254 (M+, 100), 223 (49), 145 (38), 115 

(32), 121 (23).  

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methoxybenzene) (4) 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.42 (d, J = 6.3 Hz, 1H), 7.22-7.14 (m, 3H), 

6.92-6.83 (m, 5H), 6.41-6.32 (m, 1H), 3.84 (s, 3H), 3.83 (s, 3H), 3.56 (d, J = 6.0 Hz, 2H); 13C NMR 

(75 MHz, CDCl3) δ: 157.3, 156.4, 139.5, 129.8, 129.5, 129.1, 127.9, 127.3, 126.6, 125.5, 120.6, 

120.5, 110.9, 110.4, 55.5, 55.4, 33.8; LRMS (EI 70 ev): m/z (%): 254 (M+, 100), 223 (62), 91 (52), 

115 (35), 145 (29); HRMS m/z (ESI) calcd for C17H11O2 (M+H)+ 255.1372, found 255.1380. 

(E)-prop-1-ene-1,3-diyldibenzene (5)1 

Colourless liquid; 1H NMR (300 MHz, CDCl3) δ: 7.38-7.20 (m, 10H), 6.46 (d, J = 15.9 Hz, 1H), 

6.40-6.56 (m, 1H), 3.55 (d, J = 6.3 Hz, 2H); 13C NMR (75 MHz, CDCl3) δ: 140.2, 137.5, 131.1, 

129.3, 128.7, 128.5, 128.3, 127.1, 126.2, 126.1, 39.4; LRMS (EI 70 ev): m/z (%): 194 (M+, 100), 115 

(93), 93 (54), 179 (44), 116 (57). 



 S4

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (6)1 

Pale yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.24 (d, J = 7.2 Hz, 2H), 7.12-7.08 (m, 5H), 

6.41 (d, J = 15.8 Hz, 1H), 6.33-6.23 (m, 1H), 3.49 (d, J = 6.6 Hz, 2H), 2.33 (s, 3H), 2.32 (s, 3H); 13C 

NMR (75 MHz, CDCl3) δ: 137.3, 136.8, 135.6, 134.8, 130.7, 129.2, 129.1, 128.5, 128.5, 126.0, 38.9, 

21.1, 21.0; LRMS (EI 70 ev): m/z (%): 222 (M+, 97), 207 (100), 115 (82), 129 (64).  

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (7)1 

Colourless liquid; 1H NMR (300 MHz, CDCl3) δ: 7.43-7.39 (m, 1H), 7.16-7.11 (m, 7H), 6.63 (d, J 

= 15.0 Hz, 1H), 6.24-6.14 (m, 1H), 3.55 (dd, J = 6.6 Hz, 2H), 2.35 (s, 3H), 2.30 (s, 3H); 13C NMR 

(75 MHz, CDCl3) δ: 168.4, 136.7, 136.3, 135.0, 130.2, 130.1, 129.9, 129.1, 128.9, 127.0, 126.4, 

126.1, 126.0, 125.6, 37.2, 19.8, 19.4; LRMS (EI 70 ev): m/z (%): 222 (M+, 83), 104 (100), 115 (84), 

130 (72).  

(E)-3,3'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (8) 

Colourless liquid; 1H NMR (300 MHz, CDCl3) δ: 7.21-7.16 (m, 4H), 7.05-7.01 (m, 4H), 6.42 (d, J 

= 15.8 Hz, 1H), 6.36-6.30 (m, 1H), 3.50 (dd, J = 3.9 Hz, 2H), 2.33 (s, 3H), 2.32 (s, 3H); 13C NMR 

(75 MHz, CDCl3) δ: 140.2, 138.1, 138.0, 137.5, 131.0, 129.5, 129.2, 128.4, 128.4, 127.9, 126.9, 

126.9, 125.7, 123.3, 39.3, 21.4 (2C); LRMS (EI 70 ev): m/z (%): 222 (M+), 115 (100), 207 (94), 129 

(76), 130 (48); HRMS m/z (ESI) calcd for C17H18 (M+H)+ 223.1482, found 223.1485. 

(E)-4,4'-(prop-1-ene-1,3-diyl)dianiline (9) 

Yellow solid; 1H NMR (300 MHz, CDCl3) δ: 7.17 (d, J = 9.0 Hz, 2H), 7.02 (d, J = 8.4 Hz, 2H), 

6.66-6.20 (m, 4H), 6.32 (d, J = 15.0 Hz, 1H), 6.15-6.09 (m, 1H), 3.59 (s, 4H), 3.40 (d, J = 6.9 Hz, 

2H); 13C NMR (75 MHz, CDCl3) δ: 145.4, 144.5, 130.7, 130.2, 129.5, 128.5, 127.2, 126.4, 115.3, 

115.2, 38.5; LRMS (EI 70 ev): m/z (%):224 (M+, 100), 130 (84), 106 (57), 223 (43), 118 (30); 

HRMS m/z (ESI) calcd for C15H16N2 (M+H)+ 225.1389, found 225.1386. 

(E)-4-chloro-1-(3-(5-chloro-2-methoxyphenyl)allyl)-2-methoxybenzene (10) 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.37 (d, J = 2.4 Hz, 1H), 7.16-7.10 (m, 3H), 

6.79-6.74 (m, 2H), 6.71 (d, J = 16.9 Hz, 1H), 6.35-6.26 (m, 1H), 3.83 (s, 3H), 3.82 (s, 3H), 3.50 (d, J 

= 6.0 Hz, 2H); 13C NMR (75 MHz, CDCl3) δ: 155.9, 155.0, 130.5, 129.8, 129.6, 128.2, 127.5, 127.0, 



 S5

126.3, 125.7, 125.4, 124.9, 112.0, 111.5, 55.8, 55.7, 33.7; LRMS (EI 70 ev): m/z (%): 324 (M++2, 

30), 322 (M+, 45), 145 (100), 186 (67), 178 (47), 125 (35), 89 (30); HRMS m/z (ESI) calcd for 

323.0594, found 323.0600 

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(acetophenone) (11)2 

White solid; mp: 94-96 oC; 1H NMR (300 MHz, CDCl3) δ: 7.91 (d, J = 8.4 Hz, 2H), 7.43 (d, J = 

8.4 Hz, 2H), 7.34 (d, J = 8.4 Hz, 2H), 6.49 (d, J = 4.0 Hz, 2H), 3.64 (d, J = 2.4 Hz, 2H), 2.60 (s, 3H), 

2.59 (s, 3H); 13C NMR (75 MHz, CDCl3) δ:197.8, 197.5, 145.2, 144.4, 141.8, 136.6, 135.9, 135.6, 

131.2, 130.9, 129.0, 128.9, 128.8, 128.8, 127.5, 126.2, 39.3, 26.6, 26.5; LRMS (EI 70 ev): m/z (%): 

278 (M+, 100), 263 (97), 235 (41), 124 (32), 207 (26). 

(E)-3,3'-(prop-1-ene-1,3-diyl)bis((trifluoromethyl)benzene) (12) 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.60 (s, 1H), 7.54-7.41 (m, 7H), 6.53-6.36 (m, 2H), 

3.60 (d, J = 6.0 Hz, 2H); 13C NMR (75 MHz, CDCl3) δ: 140.5, 137.9, 132.1, 130.6, 130.1, 129.3, 

129.0, 125.4, 125.4, 123.9, 123.3, 123.3, 122.9 122.8, 39.0; LRMS (EI 70 ev): m/z (%): 330(M+, 92), 

261 (100), 115 (50), 183 (34), 311 (18); HRMS m/z (ESI) calcd for C17H12F6 (M+H)+ 331.0910, 

found 331.0916. 

(E)-2,2'-(prop-1-ene-1,3-diyl)dithiophene (13)  

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.25-7.11 (m, 2H), 6.96-6.91 (m, 3H), 6.86-6.85 (m, 

1H), 6.61 (d, J = 15.9 Hz, 1H), 6.25-6.16 (m, 1H), 3.70 (d, J = 6.9 Hz, 2H); 13C NMR (75 MHz, 

CDCl3) δ: 142.7, 142.3, 128.0, 127.3, 127.0, 125.1, 124.9, 124.6, 123.9, 123.8, 33.1; LRMS (EI 70 

ev): m/z (%): 206 (M+, 100), 97 (34), 205 (32), 173 (26); HRMS m/z (ESI) calcd for (M+H)+ 

207.0292, found 207.0297. 

(E)-4-(4-methoxyphenyl)-2-methylbut-3-en-2-ol (15)4 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.31 (d, J = 8.7 Hz, 2H), 6.85 (d, J = 8.7 Hz, 2H), 

6.52 (d, J = 16.1 Hz, 1H), 6.22 (d, J = 16.1 Hz, 1H), 3.80 (s, 3H), 1.77 (s, 1H), 1.41 (s, 6H); 13C 

NMR (75 MHz, CDCl3) δ: 159.1, 135.4, 129.7, 127.6, 125.8, 114.0, 71.0, 55.3, 31.6, 29.9 (2C); 

LRMS (EI 70 ev): m/z (%): 192 (M+), 121 (100), 159 (76), 177 (60), 144 (56).  

(Z)-4,4'-(3-phenylprop-1-ene-1,3-diyl)bis(methoxybenzene) (17) 



 S6

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.33-7.21 (m, 7H), 7.15 (d, J = 8.6 Hz, 2H), 

6.86-6.82 (m, 4H), 6.55-6.47 (m, 1H), 6.26 (d, J = 15.6 Hz, 1H), 4.82 (d, J = 7.2 Hz, 1H), 3.80 (s, 

6H); 13C NMR (75 MHz, CDCl3) δ: 159.0, 158.1, 144.1, 135.9, 130.8, 130.6, 130.2, 129.6, 128.6, 

128.4, 127.4, 126.6, 126.3, 113.9, 113.8, 55.3, 55.3, 53.4; LRMS (EI 70 ev): m/z (%): 330 (M+, 100), 

222 (90), 299 (56), 121 (41), 221 (33); HRMS m/z (ESI) calcd for C23H22O2 (M+H)+ 331.1692, 

found 331.1693. 

1,2-Dimethyl-1H-indole (18)5 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.51 (d, J = 7.5 Hz, 1H), 7.24 (d, J = 8.6 Hz, 1H), 

7.17-7.03 (m, 2H), 6.24 (s, 1H), 3.64 (s, 3H), 2.41 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 136.0, 

135.0, 129.0, 120.9, 119.6, 110.1, 100.4, 13.7; LRMS (EI 70 ev): m/z (%): 145 (M+, 20), 144 (100), 

115 (11), 143 (10).  

1-(2-Methyl-1H-indol-1-yl)ethanone (19)6 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.99 (d, J = 8.1 Hz, 1H), 7.47-7.44 (m, 1H), 

7.26-7.22 (m, 2H), 6.38 (s, 1H), 2.73 (s, 3H), 2.64 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 170.3, 

137.3, 136.5, 129.8, 123.5, 123.1, 119.8, 115.2, 109.7, 27.4, 17.6; LRMS (EI 70 ev): m/z (%):173 

(M+, 29), 131 (94), 130 (100), 77 (14). 

2-Methyl-1H-indole (20)7 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.87 (brs, 1H), 7.51 (d, J = 7.2 Hz, 1H), 7.39-7.26 

(m, 1H), 7.11-7.04 (m, 2H), 6.22 (s, 1H), 2.45 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 136.0, 135.0, 

129.0, 120.9, 119.6 (2C), 110.1, 100.4, 13.7; LRMS (EI 70 ev): m/z (%): 131 (M+, 72), 130 (100), 77 

(12), 65 (12).  

1,2,5-Trimethyl-1H-indole (21)  

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.29 (s, 1H), 7.12 (d, J = 8.3 Hz, 1H), 6.96-6.94 (m, 

1H), 6.14 (s, 1H), 3.61 (s, 3H), 2.42 (s, 3H), 2.38 (s, 3H); 13C NMR (125 MHz, CDCl3) δ: 136.8, 

135.7, 128.3, 128.1, 121.9, 119.4, 108.3, 99.0, 29.4, 21.4, 12.7; LRMS (EI 70 ev): m/z (%): 159 (M+, 

100), 158 (98), 144 (29), 115 (15); HRMS m/z (ESI) calcd for C11H13N (M+H)+ 160.1118, found 

160.1121. 



 S7

1,2-Dimethyl-5-(trifluoromethyl)-1H-indole (22) 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ:7.79 (s, 1H), 7.37-7.34 (m, 1H), 7.28-7.24 (m, 1H), 

6.31 (s, 1H), 3.66 (s, 3H), 2.42 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 138.8, 138.6, 127.3, 126.7, 

124.5, 121.7, 121.4, 117.3, 117.2 (2C), 108.8, 100.6, 29.6, 12.8; LRMS (EI 70 ev): m/z (%): 213 (M+, 

92), 122 (100), 143 (10), 106 (9). HRMS m/z (ESI) calcd for C11H10F3N (M+H)+ 214.0833, found 

214.0838. 

1,2,2-Trimethyl-1,2-dihydroquinoline (23)8 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.24-7.18 (m, 2H), 6.74-6.60 (m, 3H), 6.20 (d, J = 

15.9 Hz, 1H), 2.85 (s, 3H), 1.45 (s, 6H); 13C NMR (75 MHz, CDCl3) δ: 146.4, 140.0, 128.7, 127.3, 

123.3, 121.8, 117.2, 110.1, 71.3, 30.8, 30.1; LRMS (EI 70 ev): m/z (%): 173 (M+, 98), 158 (100), 

143 (88), 130 (47).  

1,2,3-trimethyl-1H-indole (24)9 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.48 (d, J = 7.5 Hz, 1H), 7.24 (d, J = 8.0 Hz, 1H), 

7.17-7.05 (m, 2H), 3.65 (s, 3H), 2.35 (s, 3H), 2.26 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 140.2, 

136.4, 132.6, 128.3, 120.4, 118.5, 117.9, 108.6, 29.5, 10.1, 8.8; LRMS (EI 70 ev): m/z (%): 159 (M+, 

87), 158 (100), 144 (63), 143 (21).  

2-Ethyl-1-methyl-1H-indole (25)10 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.54 (d, J = 7.7 Hz, 1H), 7.27 (d, J = 10.1 Hz, 1H), 

7.18-7.04 (m, 3H), 6.26 (s, 1H), 3.71 (s, 3H), 2.78-2.73 (m, 2H), 1.36 (t, J = 10.1 Hz, 3H); 13C NMR 

(75 MHz, CDCl3) δ: 15142.9, 137.4, 127.5, 120.5, 119.7, 118.0, 108.6, 97.8, 29.3, 20.1, 12.7; LRMS 

(EI 70 ev): m/z (%): 159 (M+, 47), 144 (100), 143 (13).  

2-Methylbenzofuran (26)11 

Colourless liquid; 1H NMR (300 MHz, CDCl3) δ: 7.48-7.45 (m, 1H), 7.41-7.38 (m, 1H), 7.20-7.14 

(m, 2H), 6.36 (s, 1H), 2.45 (s, 3H); 13C NMR (75 MHz, CDCl3) δ: 155.4, 154.8, 129.2, 123.0, 122.4, 

120.1, 110.6, 102.6, 14.1; LRMS (EI 70 ev): m/z (%): 132 (M+, 5), 131 (100), 77 (16), 103 (14).  

(E)-N-Methyl-N-(2-(prop-1-enyl)phenyl)acetamide (27) 



 S8

Yellow liquid; 1H NMR (500 MHz, CDCl3) δ: 7.49 (d, J = 9.0 Hz, 1H), 7.22 (t, J = 8.5 Hz, 1H), 

7.17 (t, J = 7.5 Hz, 1H), 7.04 (t, J = 9.0 Hz, 1H), 3.12 (s, 3H), 1.83 (t, J = 5.5 Hz, 3H), 1.70 (s, 3H); 

13C NMR (125 MHz, CDCl3) δ: 171.0, 141.2, 135.4, 129.4, 128.4, 128.1, 128.0, 126.4, 125.3, 36.4, 

22.2, 18.9; LRMS (EI 70 ev): m/z (%): 189 (M+, 25), 146 (100). HRMS (ESI) for C12H16O3 (M+H)+: 

calcd. 190.1232, found 190.1235. 

(E)-3-(2-(Hydroxymethyl)phenyl)allyl acetate (28) 

Yellow liquid; 1H NMR (300 MHz, CDCl3) δ: 7.45-7.42 (m, 1H), 7.30-7.28 (m, 1H), 7.23-7.19 (m, 

2H), 6.93 (d, J = 9.3 Hz, 1H), 6.17, 6.14 (tt, J = 3.6 Hz, 3.9 Hz, 1H), 4.69-4.67 (m, 4H), 2.04 (s, 3H); 

13C NMR (125 MHz, CDCl3) δ: 170.9, 137.7, 135.3, 130.1, 128.5, 128.3, 128.2, 126.4, 125,8, 65.2, 

63.4, 21.0; MS (EI, 70 eV) m/z (%): 206 (M+, 1), 117 (100), 115 (82), 131 (68), 128 (63), 146 (62); 

HRMS (ESI) for C12H14O3 (M+H)+: calcd.207.1018, found 207.1015. 

 

(C) References 

1. Wang, J. L.; Huang, W.; Zhang, Z. X.; Xiang, X.; Liu, R. T.; Zhou, X. G. J. Org. Chem. 2009, 74, 

3299. 

2. Mizuno, K.; Ichinose, N.; Otsuji, Y. J. Am. Chem. Soc. 1985, 107, 5797. 

3. Lebel, H; Davi, M; Diez-Gonzalez, S; Nolan, S. P. J. Org. Chem. 2007, 72, 144. 

4. Gallagher, W. P.; Maleczka, R. E. J. J. Org. Chem. 2005, 70, 841. 

5. Esaki, H.; Ito, N.; Sakai, S.; Maegawa, T.; Monguchi, Y.; Sajiki, H. Tetrahedron, 2006, 62, 

10954. 

6. Taira, S.; Danjo, H.; Imamoto, T. Tetrahedron Letters, 2002, 43, 2885. 

7. Ambrogio, I.; Cacchi, S.; Fabrizi, G.; Prastaro, A. Tetrahedron, 2009, 65, 8916. 

8. Migneault, D.; Bernstein, M. A.; Lau, C. K. Canadian Journal of Chemistry, 1995, 73, 150. 

9. Tsuji, Y.; Huh, K. T.; Watanabe, Y. J. Org. Chem. 1987, 52, 1673. 

10. Hisler, K.; Commeureuc, A. G. J.; Zhou, S. Z.; Murphy, J. A. Tetrahedron Letters, 2009, 50, 

3290. 



 S9

11. Mitsudome, T.; Umetani, T.; Nosaka, N.; Mori, K.; Mizugaki, T.; Ebitani, K.; Kaneda, K. Angew. 

Chem. Int. Ed. 2006, 45, 481. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 S10

(C) Spectra 

(E)-4,4'-(Prop-1-ene-1,3-diyl)bis(methoxybenzene) (3) 

 



 S11

(E)-4,4'-(Prop-1-ene-1,3-diyl)bis(methoxybenzene) (3) 

 



 S12

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methoxybenzene) (4) 

 



 S13

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methoxybenzene) (4) 



 S14

(E)-prop-1-ene-1,3-diyldibenzene (5) 

 



 S15

(E)-prop-1-ene-1,3-diyldibenzene (5) 

 



 S16

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (6) 

 



 S17

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (6) 

 



 S18

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (7) 

 



 S19

(E)-2,2'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (7) 

 



 S20

(E)-3,3'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (8) 

 



 S21

(E)-3,3'-(prop-1-ene-1,3-diyl)bis(methylbenzene) (8) 

 



 S22

 

(E)-4,4'-(prop-1-ene-1,3-diyl)dianiline (9) 

 



 S23

(E)-4,4'-(prop-1-ene-1,3-diyl)dianiline (9) 

 



 S24

(E)-4-chloro-1-(3-(5-chloro-2-methoxyphenyl)allyl)-2-methoxybenzene (10) 

 



 S25

(E)-4-chloro-1-(3-(5-chloro-2-methoxyphenyl)allyl)-2-methoxybenzene (10) 

 



 S26

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(acetophenone) (11) 

 



 S27

(E)-4,4'-(prop-1-ene-1,3-diyl)bis(acetophenone) (11) 

 



 S28

(E)-3,3'-(prop-1-ene-1,3-diyl)bis((trifluoromethyl)benzene) (12) 

 



 S29

(E)-3,3'-(prop-1-ene-1,3-diyl)bis((trifluoromethyl)benzene) (12) 

 



 S30

(E)-2,2'-(prop-1-ene-1,3-diyl)dithiophene (13) 

 

 



 S31

(E)-2,2'-(prop-1-ene-1,3-diyl)dithiophene (13) 

 



 S32

(E)-4-(4-methoxyphenyl)-2-methylbut-3-en-2-ol (15) 

 



 S33

(E)-4-(4-methoxyphenyl)-2-methylbut-3-en-2-ol (15) 

 



 S34

(Z)-4,4'-(3-phenylprop-1-ene-1,3-diyl)bis(methoxybenzene) (17) 

 



 S35

(Z)-4,4'-(3-phenylprop-1-ene-1,3-diyl)bis(methoxybenzene) (17) 

 



 S36

1,2-Dimethyl-1H-indole (18) 

 



 S37

1,2-Dimethyl-1H-indole (18) 

 



 S38

1-(2-Methyl-1H-indol-1-yl)ethanone (19) 

 



 S39

1-(2-Methyl-1H-indol-1-yl)ethanone (19) 



 S40

2-Methyl-1H-indole (20) 

 

 



 S41

2-Methyl-1H-indole (20) 

 



 S42

1,2,5-Trimethyl-1H-indole (21) 

 



 S43

1,2,5-Trimethyl-1H-indole (21) 

 



 S44

1,2-Dimethyl-5-(trifluoromethyl)-1H-indole (22) 

 



 S45

1,2-Dimethyl-5-(trifluoromethyl)-1H-indole (22) 

 



 S46

1,2,2-Trimethyl-1,2-dihydroquinoline (23) 

 



 S47

1,2,2-Trimethyl-1,2-dihydroquinoline (23) 

 



 S48

1,2,3-trimethyl-1H-indole (24) 

 



 S49

1,2,3-trimethyl-1H-indole (24) 

 



 S50

2-Ethyl-1-methyl-1H-indole (25) 

 



 S51

2-Ethyl-1-methyl-1H-indole (25) 

 



 S52

2-Methylbenzofuran (26) 

 

 



 S53

2-Methylbenzofuran (26) 

 



 S54

(E)-N-Methyl-N-(2-(prop-1-enyl)phenyl)acetamide (27) 

 



 S55

(E)-N-Methyl-N-(2-(prop-1-enyl)phenyl)acetamide (27) 

 



 S56

(E)-3-(2-(Hydroxymethyl)phenyl)allyl acetate (28) 

 



 S57

(E)-3-(2-(Hydroxymethyl)phenyl)allyl acetate (28) 

 


